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Quiz 5

You scored 0 out of 100

Question 1
You did not answer the question.

Calculate the integral:

a) In[RUj

b) —ID[HU)
1 [HU i
c) 4 8 J

89
In [ —
d) 8 /I
1 [ 89
e) 4 8 J
Question 2
You did not answer the question.

Calculate the integral:
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Question 3
You did not answer the question.

Calculate the integral:
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Question 4
You did not answer the question.
Calculate the integral:
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Question 5

You did not answer the question.

Calculate the integral: )
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Question 6

You did not answer the question.

Calculate the integral: )
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Question 7

You did not answer the question.

Calculate the integral:
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Question 8

You did not answer the question.

Calculate the integral.
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Question 9
You did not answer the question.

Calculate the integral. )
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Question 10

You did not answer the question.

Calculate the integral.
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Question 11

You did not answer the question.

Calculate the given integral:
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Question 12
You did not answer the question.
Calculate the given integral: )
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Question 13

You did not answer the question.

Calculate the given integral:
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Question 14

You did not answer the question.
Calculate the given integral:
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Question 15

You did not answer the question.

Calculate the given integral:
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Question 16
You did not answer the question.
Calculate the given integral:
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Question 17
You did not answer the question.
Calculate the given integral:
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Question 18

You did not answer the question.

Calculate the given integral:
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Question 19

You did not answer the question.

Calculate the given integral:
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Question 20

You did not answer the question.

Calculate the given integral:

Je+10x+10

']

(E+10r+10)  <c

a)

@ VE+H10x+10 +C

0@ 23X +10x+10 +C

Q@ XX +10x+10 +C

I I

om (X +10x+ ) “+c



